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The diagram below shows the energy flow in

The graph bel . . Marks h
con di%io:& elow shows the rate of photosynthesis under different an area of forest canopy during 1 year.
0-4% CO, 35°C
Rate of / < 0-4% CO. 20° . ’ ///
photosynthesis \ P 0 20%C sunlight energ_}; released by
B (4000000kJm") respiration
A 0-01% CO, 20°C f . (40000k] m™)

T T ———— y —

Light intensity ———

Use the information in the graph to complete the table below.

Tick (/) one box in each row to indicate the factor that is limiting the
rate of photosynthesis at points A, B and C.

Graph point Temperature Light intensity | CO, concentration

What percentages of available sunlight energy

A are fixed by the trees. in photosynthesis and

are present in new growth and stored food?

B ' ' ' Percentage of available | Percentage of available
energy fixed in energy present in new

o photosynthesis growth and stored food
@ A -0-25 2:25
B 1-00 1-25

C 1-25 0:25 (
| | )

LD 225 1-00



